TEAS 2 =14(a-2)i, 20 = (b—2)—ai o TNSF 7214 (2-4i) = 2,
AR ], A4 a, b 9 & a+ b9 IS F5toizt

Z1=1+(d—2)i,22=(b—2)—ai%
71 + (2 - 4i) = 75 ol HYSHH

1+ (@a-2)i+ (2-4i)=(b-2)—ai
3+ (a—6)i=(b-2)—ai

Ba57} A2 28 2200 3ol
3=b-2,a-6=-a

919] = A2 Qestol B

b=5 a=3

“a+b=28




—x 20100 1—|—i o °
f(x):(1+x> E]ﬂ’f(1+i)+f(l—i>4ﬁt?
@2 o-2 o0 @ 2 ® 2i

1-i (-9 -2
1+i (+oa-9 2
1+i 1+ 2

1_l ) E l ]E_E

+

1=+

gl
= f(=i) + ()
-(5)°

= {2010 4 (_

— (§4)502. 2+{

=-14(-1)=-2

+(33

)2010

)
o

}502 - (=i)?




3.

S (1 +i)z+ (2z-3i)i=0S U=

®3+9i @ -3+9i ® 3-9i
9. 3 9 .
® 515 &)1 " 10

~&B

t—atbi(a b A2 EowW
(L4 i)(a+bi)+ {2(a+bi) - 3i}i=
(a+bi+ai—b)+ (2ai —2b+3) =
(@a—3b+3)+ (3a+b)i=0
24571 A7 22 279 glato]
a-3b+3=0,3a+b=0

= A8 Astel 24

_.3 ,_9
710077 10
3 9
1= —— + —




141
4. z= —1_l°1fq1 1+z+22+--- 72008 9] k29

O —i @ -1 ® 0 @ i @1

B

+% =i2=-1,2=-i, =1
1-i

(EA) i 1+z+2+22 +-- 42208

P R= [ S

1+i-1-i=0

I+z+22 4224+ 2208

=0+0+- 404729

— 72008

= (£4)502

—_

—

=1




5.

A 2t (-2 -2 = 19 BE 2] o] 09 ) 4%
ares
o1 @ ® 3 @ 4 ® 5

B

| x>+ (a-2)x-2=1 x>+ (a-2)x—2=+1

P4+ @-2)x-2=19%FZLapHsHa+B=-(a-2)
. O

2 +(@a-2)x-2=-19F S y,6stHy+6=-(a-2)
... ©

Q+OstH a+B+y+6=-2(a-2)

nE Zolgo]lpolBER2 g-2=0.a=2

B

fx)=x*+(a-2)x-252H y

lf@ =192 By, 6T WHatfry+6=00°]7
Ay = |£(x)] O THTE k& 1T} 2ol y 2o Tl
golch. ($34)

o] 2 0|B 2 W4

A

B Y
y=1f(2) 5

Iz

11'\2?0 78




6. xX*+3ax+b=032-ax+c=02FEZ1
2a® + b - c7t H| A&7t H=a ] 27

@ -1 @0 @1 @ 2

filo
A
rr
£
-
&

B

ZZ0A

1+3a+b=0--0Q
l-a+c=0---©

O-© : da+b-—c=0

“ b—c=-4a

202 +b-c=2a*-4a=2(a-1)2?-2
aebA g =19 o, F4oltt




O A 2+ x+2=02 F 2L a, B IE S, ="+ (n=
) s Sut2+ S +25, =00, S4+S3+S2 =)
ojt}. o] wf, O, (hol] k-2 45 ztef|2 AH?

@ o1 @ 0,2 @0,3 @ 1,1 ®1,2

a+p=-1, af=2
Spio + 841 +28,
:(a,n+2 —I—ﬁ"+2)—|—(an+1 _|_Bn+1)_|_2(a,n +ﬁn)
=a"(@®+a+2)+p'(B*+B+2)=0
(Fa?+a+2=0,2+B+2=0)
n=25 YUSIH S, +S3+25, =0
LS4+ S35+ S =-S5,
=—(a® +p%)
= —{(a +p)* - 208}
=—(1-4)=3




o]
=

o,

R I

o
1o
m{m
1)

o,
<
_>.:
E
i)
2

,cx—bx+a

, cx>+bx+a

, cx2—bx+a

IS

R

b ~(F 2 @elmz - (1
_

()= o
a

cx® +bx+a =0

ac;;[a’)

B




A’BI:}\]—E]'O] ]_}‘ﬂ'@]ax2+bx+c:0° _TIL_E] L=

= T 1=
9ol 494 7S, B cE AR ¢ol -3+ V2iE 2o = Atk

o] & 29 g Fstof=t
> E:

(=

B ‘

AEastcEHEA glonz
:L-"]' Ala=eto] THA o A

S—4. 7=-28,c=—-28a
a

B aStbEHIEA YUoBR
= = (=34 V2i) + (-3 - V2i) = -6, b = 6a

wheb gefo] o) g AL
ax®> 4+ 6ax—28qa =0
=it A-ete] BAof| ofs = F9] 2 -6




10.  xofl TR o] 27

D)-1<k<1 @ -1<k<1 ® 0<k<?

@ -1<k<0 ® -1<k<1

(i) T2 HE 208 W,
a+B=k(k+3)>0 .. k>0, k<-3
aB=k>-1=0 . k==1

oA, k=1

J8Bg (i) (i) -1<k<1




O 20 @ 22 ® 23 @25 ® 27

y=—5x2—|—20x+3
=-5(x*-4x+4-4)+3
=-5(x-2)2+23

La=2,b=23

sa+b=24+23=25




oJAIE y = —2x% O] THLE x FO YFOR 3T y F
YFoz 4 WHF BHolSAIZE o, S oY
@1 @ 2 ® 3 @)4 ®5
y=-2(x+3)%>+4
orebA x = -3 o ), HHg2 4 ol




13.

o1}
a<0)

=

2y %x2+4ax o] F5:gko] -8 & 1, 4 ¢] FHE Latolel (2,




14.

rO B sx <2 Al By =

x=19 W,y = -1 (A57),
x=2d ), y=1FHRAA)
webd AT H53e) B

~1 o]e.




71291 5 474 Ik, o] F 40 Bol

&5 Fofofel,
’ Ct
> e 6

e

x=(x+6)%-36

x=-6, —6+12=06

x=-6 <4, 2= 362 A=

e 5 4 Foll A 2 S 6 ol




Gy= x4 2045 9 TR x HOR oAl =Y
L, G ol x % §lo] 0 AL WS ), o] HAH2 g
Z

Selo] Pol o] AzHe Totelet

y=-x2+2x+5 9 1 nE T2H ot} A}

yl
6F

T
|
|
i
|
i
!
1

T\ %

Z=4 919 dojol A4 P o HE=

(t, —1%+2t+5) oJt}.

AANAZ O 7tz ] o= 2(1- 1),

A o] A2 8] dol= -2 4 2t + 5 |t

Ed9] do] =212(t-1) - 12 + 2t + 5]
=2(-2 +4t+3)
=-22+8t+6
=-2(t-2)2+14

t=2 % o, A2 14 oJrt.

[0




17. AWOCZRH 24 30m 2 Y= A T2t £ 59| £0|E hm &
SFH h = —5¢% 4 30r Q1 TAZF R o] Fo] 7HF ol 224k
mjo] ZH o 2 RE O] FolE 5ot

o K

> £ m

[> HED 45m

h = -5t 4 30t oA h = =5(t — 3)% + 45 ©|t}.
weba] 7HE o] E2HkE 19 &l 45m o|th




18, ARAPTAA ¥t + 2% - 7x? - x+ 6 = 09] o] obd A2

O -3 @ -1 @1 @ 2 ®)3

=< ool HAH L= Q425

)
r
_0|L
2
oX,
)
ol
rr
1

4P -T2 -x4+6=0
(x=1)(x*+2x2 - 5x-6) =0
(x-1)(x-2)(x*+4x+3)=0
(x=1)(x-2)(x+3)(x+1)=0
Lx=-3,-1,1F=2




19. —5x2-14 =09 T 3]22 e, gt & W, o2 +82 2] FhS F5HH?
© 4 @-4 ® 8 @ -8 ® -16
xt—5x% - 14= (22 +2)(x*-T) = 00| 2=
o5l a, p=
27 \2i, - V2i0|E2
?+pR=-2-2=-4




_ _ 1
20. WA P =19 022 0o a = w+— A 1 a2+l G2
w

® -2 @ -1 ®0 @1

® 2

P¥=1Lx-D*+x+x2+x+1)=0
Lttt +o+1=0
w? O & o] A e H

) 1 12
W twt+l+—+— =0
w w

o 12 1
W+— )+ o+=)+1=0,
w w

1\? 1
w+=) =24 (w+=)+1=0
w w

Lt a-1=0,24+a=1




21.

AP AL B3 _2x2 4 4x 4+ 3 = 09 Al 2L o, B
1-p)(1-y)9] 3t2?

® 2 @ 4 ()6 @ 8

. vt

® 10

mol(

a+B+y=2,aB8+By+ya=4,afy=-3°|R2
(1-a)(1-8)(1-7y)

=1-(a+B+y)+ (aef+By+yB)—afy
=1-24+4+4+3=6




HAHA 3 =19 FolTE w, wetdl T o, o35 #A 4 o]
F= A2
O wtw=-1 @ w-w=1

B=1,x-D*+x+1)=0,
P +x+1=0w®=1,
w+w+1=0,
W+w+1=0

®w?+w+1=0(Q)




x2+y2:5

23. AYFHA { o e

X2—xy+y*=3
x=a,y=bt T o, ab 2] 72?2

@ -2 @ -1 ® 0

@ 1

~&B

P?4+y2=5 -+ @

¥®-xy+y*=3 .-+ ©

Q= Ol HASHH 5 -xy =3, xy=2
ab =2




telet.

S

2t m+2)x-4=0,x>+(m+4)x-6=0

.

ul

o] qolB 2

@®+(m+2)a-4=0--

Ho

Q@
©

>+ m+4)a-6=0--

1

a

@D-0O A -2 +2=0 ..

=12 HYstA 14+ m+2-4=0

m=1

T mta=2




25.

xol Te Ol A X2 4 mxtm? —1 = 00] B4TE 7

m 2] =7

D1 @ 2 @3 @ 4

B

x? +mx+ x2 =1 =004 2] FAlof oJs}o
—-m+ m?—4(m?-1)
2
ol o, x7} Aol BER
m2—4(m?-1) = k(, k=
-3m? +4=k>
atebA], m 9] i —1, 0, 12 370t}

X =

o

$Ek>0)2 5t




